ESIEVRF S RN o SN

% A) (HA7: T, %)
K AIAR L
X o SR 184EE SRR T4 E fir R
1 PREE 9,450,318 8,552,294 10.5
2 fEAE R O 4k} 81 126 -35.7
3 EEX e 10,524,225 11,297,438 -6.8
4 IRBIT B EZ 4 5,081,221 4,712,592 7.8
5 B4 1,645,566 1,099,741 49.6
6 LRI T4 645,801 639,840 0.9
7 WMPEILA 3,511 6,043 -41.9
8 M4 3,503,821 3,835,259 -8.6
9 fEka 1 230,000 el5
10 FEICA 65,455 66,667 -1.8
= G 30,920,000 30,440,000 1.6
Wi Wmo S 3 RF Bl &= B
% A) (B T, %)
POREIKESE
X o SR 184EE SRR TAEE fir R
I = SPN 15,590,936 16,069,624 -3.0
2 WA 327,300 325,215 0.6
3 ke 250,000 100,000 150.0
4 FHEIN 281,764 305,161 -7.7
& 7t 16,450,000 16,800,000 -2.1
Hrod ) 58 T Y S € R Bl & EF
% A) (B T, %)
KRR L
X o SR 184 SRR T4 E fir R
1l B OV R 149,516 150,864 -0.9
2 MA® 77,939 81,431 -4.3
3 ke 3,000 3,000 0.0
4 FHEIN 50,545 50,805 -0.5
& 0 93,900 R
= 7 281,000 380,000 -26.1

(% ) (BN T, %)
AR

X ) AR 1B AR TARFE =
1 5 675,276 655,599 3.0
2 PRBRAG(T 2 20,946,864 20,118,955 4.1
3 ENIREEHLH & 6,671,819 7,101,528 -6.1
4 LT & 1,685,438 1,662,576 1.4
5 LRSS 698,116 650,649 7.3
6 Prbatfinx 2 144,841 172,235 -15.9
T ANMEE 4,500 4,500 0.0
8 Fh 4 15,602 13,500 15.6
9 TH# 77,544 60,458 28.3
= G 30,920,000 30,440,000 1.6
(% ) (BN T, %)
AR

ES va YRR 184EFE SRR TAEE fip =
1 5 967,972 1,075,819 -10.0
2 FEH 15,152,089 15,317,505 -1.1
3 FE 4 267,326 284,015 -5.9
4 TH# 62,613 122,661 -49.0
& G 16,450,000 16,800,000 -2.1

% ) (BN T, %)
AR

ES 0o SRR 184EFE SRR TAEE iR =
1 5 192,739 284,802 -32.3
2 NEE 86,567 93,604 -7.5
3 Tk 1,694 1,594 6.3
= G 281,000 380,000 -26.1




FEFEE&FBEMNFEFINSH
% A) (B2 T, %)
KFATAR L
X o2 AR 1 84 FE SRR TAR fin R
1 BfEZENA 24,667 29,693 -16.9
2 R4 6,332 5,305 19.4
3 MRS 20,000 20,000 0.0
4 i 3,000 1 e
5 FHIA 1 1 0.0
& &t 54,000 55,000 -1.8
™ K E F ¥ 8o = 5
GARPN) (BAL: T, %)
X AITAR L
X o2 R 184EFE YRR 1 TAEJE fin R
1 s K OEEE 81,872 98,957 -17.3
2 B L OFEoR 3,786,823 3,716,392 1.9
3 EE A 1,973,975 2,156,330 -8.5
4 R4 150 450 -66.7
5 A4 1,327,000 2,158,000 -38.5
6 AR 1 1 0.0
(VON 4,679 21,270 -78.0
8 Thif& 3,935,500 3,963,600 -0.7
& Bl 11,110,000 12,115,000 -8.3
(RN A A O =i
(% A) (HAZ: T, %)
AR EE
ES 9 R 184 E SRR TAE g =
1l FBE B OV Ek 33,700 38,600 -12.7
2 JHPERN 1,294 1,308 -1.1
3 M 13,000 0 i
4 ke 2,000 2,000 0.0
5 FEINA 6 92 -93.5
= i 50,000 42,000 19.0

(% HD) (BEAL:TH, %)
KRR

X 43 R84 SERRLITAEE fip P
1 HEYE 2,582 2,874 -10.2
2 &R 50,418 51,126 -1.4
3 Tt 1,000 1,000 0.0
& 2 54,000 55,000 -1.8
(% H) (BAL:TH, %)
AR EE

X i SRR 1 84 JFE Rk TAE S fig =
1 FAEH 6,987,052 7,162,355 -2.4
2 INE#H 4,117,547 4,944,381 -16.7
3 T 5,401 8,264 -34.6
& 2 11,110,000 12,115,000 -8.3
% H) (AL T, %)
kAT

X 4y Rk 1 84F i SERR L TAE E g P
1| FEHE 44,196 39,809 11.0
2 Th# 5,804 2,191 164.9
& = 50,000 42,000 19.0
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(% A) (HAZ: T, %)
KFATAR L

X ) PR SAE Rk TAEFE %
1 IR A4 16,585,003 18,780,964 -11.7
2 EE e 9,105,149 8,843,984 3.0
3 B e 2,273,862 2,204,999 3.1
4 MG 2,372,981 1,829,048 29.7
5 i 1 1 0.0
6 A 35,004 25,004 40.0
= gt 30,372,000 31,684,000 -4.1

i~ R R oE RN & E

% A) (HAZ: T, %)
X AITAREBE

X g R 184 E SRR TAE i =
1 PR 3,609,992 2,643,279 36.6
2 B L O Tk 1 1 0.0
3 EE A 3,922,154 4,074,296 -3.7
4 LG4 5,095,889 5,016,448 1.6
5 W4 2,417,816 1,963,540 23.1
6 HPENA 100 560 -82.1
7T M 2,778,369 2,657,633 4.5
8 M4 1 1 0.0
9 FEILA 678 242 180.2
& Bl 17,825,000 16,356,000 9.0

] 5 K E F ¥ 5o & F

% A) (B T, %)
X AITAREBE

X g R 184 SRR TAE i =
1 EREE R O F 40k 8,134 1,008 706.9
2 MA& 4,543 4,580 -0.8
3 R 1 1 0.0
4 FEUILA 1,322 1 bge!
Gy FE4 K OVE HE 4 0 2,054 R
(] i 3 H 4 0 20,156 R
ifE 0 48,200 R
a g 14,000 76,000 -81.6

% ) (BN T, %)
SRR

X 2 PR SAE R TAEFE G
1 BEE 69,281 58,072 19.3
2 ERHEE 30,273,959 31,598,279 -4.2
3 NMER 2,000 2,000 0.0
4 FEZ 4 1,010 1,010 0.0
5 Tl 25,750 24,639 4.5
= gt 30,372,000 31,684,000 -4.1
% ) (BN T, %)
R FITAREE

X 53 R 184 E SRR TAE S
1 WREE 655,957 629,934 4.1
2 PRERAGHTE 16,321,519 15,676,901 4.1
3 MR 325,932 0 i
3 MEZE LI 4 16,322 15,677 4.1
4 FEEBFE® 474,165 560 V]
5 NMEH 2,000 2,000 0.0
6 I 6,000 6,000 0.0
7T Tl 23,105 24,928 -7.3
a g 17,825,000 16,356,000 9.0

% ) (BN T, %)
R FITAFEE

ES g R 184 SRR TAE GRS
1 S KEE 10,420 74,897 -86.1
2 NME#E 3,215 0 B
3 T 365 1,103 -66.9
a B 14,000 76,000 -81.6




7 52 T Y F 2E K Bl = Rt
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% A) (HAL: T, %)
X AITAR L

X 52 R 184EFE YRR 1 TAEJE iR
Ll B OV ECR 6,447 6,447 0.0
2 A& 14,551 12,551 15.9
3 Ml 1 1 0.0
4 FENAN 1 1 0.0
& Bl 21,000 19,000 10.5

feb S ER Uk PEOK F R ] = R

(% A) (HAZ: T, %)
AR L

ES 9 R 184 E SRR TAE g =
1 e R OAEHAE 6,741 6,372 5.8
2 B L OFEok 52,256 49,610 5.3
3 A 129,000 126,000 2.4
4 i 1 1 0.0
5 FEIA 2 17 -88.2
VA S 4 0 28,000 R
& &t 188,000 210,000 -10.5

R E M AR TS PR K AL B 5 6 K I = R

% AN (BAL: T, %)
o AITARE L

< o2 R 184EFE YRR 1 TAEJE fin R
IS AR Y A O = B e 18,644 20,788 -10.3
2 B O 5ok 79,824 69,301 15.2
3 EE A 43,404 47,148 -7.9
4 B4 9,164 9,993 -8.3
5 MPEILA 652 551 18.3
6 A 21,000 18,000 16.7
T 10,000 10,000 0.0
8 FEILA 12 19 -36.8
9 TifE 92,300 95,200 -3.0
= i 275,000 271,000 1.5

(% H) (HAL: T, %)
SR RE
X 2l R84 VR TAEFE %
| WwHtE 10,149 8,359 21.4
2 INEE 9,675 9,675 0.0
3 Tt 1,176 966 21.7
& 2 21,000 19,000 10.5
% H) (AL T, %)
kAT
X o7 Rk 1 84F SERR 1 TAE BE g P
1 LK% 83,268 109,834 -24.2
2 NEE 102,660 97,884 4.9
3 Tt 2,072 2,282 -9.2
& Z 188,000 210,000 -10.5
(% H) (EAL: T, %)
SEATHERE
X 57 SRR 1 84F SRk 1 TAE S fig =
1R E M A VR BE 7K ALLER it 5% 265,804 263,881 0.7
2 NEE 8,196 6,569 24.8
3 Tt 1,000 550 81.8
& 2 275,000 271,000 1.5




